Supplementary questions
Water inquiry

1. If water was not a concern could you estimate what your potential economic output
would be?

We have approximately 200ha under Centre Pivot Irrigation.

If water was not a concern, the potential economic output would be approximately 6,000 tonnes of
Lucerne annually with a value of about $1.8 million.

With more water available we would develop another 100 ha under pivots which could produce an
additional 3,000 tonnes of lucerne annually with a value of about $500,000.



